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25 HE2H
MM (HE2H)F:AXX0 ey
Sl WHBHAEY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oJlez 78,300& * 1 x903] 7,047
OF52Y 78,300 x 1Y 133 1,018
Odxtx=< 78,300 x 1Y »3& 235
[Or=2=1:l 3,000 x 1 *903] 270
o4Eeg = 8,300,000& *12% 996
201 et A | 23,305 28,705 A5,400
01 AFR2t2l Yl 20,000 20,000 0
OE (&XNHEHIIZS fEHeldl
10,000, 000& 23] 20,000
02 =329l 3,305 8,705 N5,400
OJIH S JABHAHY HIYEE S
40,000& x2H 80
OMY I HaE A AlEEHISXIH 500,000 *x53] 2,500
OMY I HEE LR 2 1,450& *5004 725
206 M=l 19,502 19,502 0
01 &2 bl 19,502 19,502 0
OdtHE S 2| 18,302
OzedR 1,700& %134 =903/ 1,989
Ods 1,450& x1254 *903] 16,313
oMIIdgEE 29 Mz 100,000& = 12& 1,200
HANEEIN A 1,600 21,600 A 20,000
101 2124 1| 1,200 1,200 0
04 JI2ZtHIZ22XNHSE 1,200 1,200 0
OBAM FH+ XY o2y
150,000& 2 x4 1,200
201 LEt2 Y| 400 400 0
02 332494l 400 400 0
OFAN ExHE 400,000& *13] 400
SSotE A 22 7,821 4,711 3,110
101 @121 5,021 2,51 2,510
04 J|I2ZtHZ2E2XNEE S 5,021 2,51 2,510
O3 &4A 2R 5,021
Oolgg 25,0003 *2Y x83| x12& 4,800
oBgz 4,800, 000& *4.6% 221
201 et A | 2,800 2,200 600
01 AFR2t2l Yl 1,200 1,200 0
© 2bEt=2H| 1,200
O3=st&Es 25 #¢
50,0003 *2 A x12& 1,200
02 332494l 1,600 1,000 600
O2Z222 Y Al 1,600
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OBt A Ex4+HHI
400,000 10 A *13] 400
O2Fst&A MIIQZ2 50,0002 Ax128 1,200
FOXXNANEHSH 60,000 66,900 A 6,900
FOUXXNAEH 24 &5 A& 60,000 66,900 6,900
201 LBt 9H]| 53,000 59,000 A 6,000
01 AP 22| d| 51,000 57,000 A 6,000
oOgBt=2H| 8,400
OZEZNHERY J2ARE3E |
100,000 x50 Btx12€) 6,000
OFUAXHE 2HH| 200,000 x12& 2,400
o2d9s¢ 42,600
OIS BHLY
70,000 x25% x12& 21,000
OFOUXNXAME T2 A=Y
300,000 x6H x12& 21,600
02 2324 2,000 2,000 0
OFXXHEH AEZEH KA H 500,000 «43] 2,000
202 o4 | 1,800 1,800 0
01 2L HI 1,800 1,800 0
OFQXXAEH SL2F=& H|
50,000& *3H ~ 128 1,800
206 M Hl 4,200 5,100 A 900
01 =4l 4,200 5,100 A900
OFUXXSE & & 22| THEH|
300,000& 43| 1,200
O 2IIE &2 M=l 1,500, 000& *23] 3,000
301 YEtE A =2 1,000 1,000 0
09 SHAIAHI X & 2 1,000 1,000 0
OFXNXNAXZ HdAXAS BALAX B4a2
1,000, 000& *13] 1,000
(HI =29 )X <o) 260, 156 221,860 38,296
NEFEIRLY 260, 156 221,860 38,296
HSMH 2ESJ|F 56,356 18,060 38,296
101 124 4| 12,356 14,060 N 1,704
04 JI2ZtHIZ22NEES 12,356 14,060 N 1,704
OE=Z2H M=&xY 8,518
ool 160, 000& x5 10 8,000
= &Fd| 3,000 x5H 10 150
O1nNEAMNEE 2 8,000,000 x4 .6% 368
OJZ2L(Salz) XY 1,919
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CHB - BI(BH) - NN - B 0l &t o e 2
osy 150,000 »3H x4 1,800
O= &l 3,000& »3H x4 36
OLBMMEESZ 1,800,000& *4.6% 83
O (Fa=)Z HHSLH 1,919
ooy 150, 0003 3% «4 1,800
o=t 3,000& »3H x4 36
CLENMNMEER 1,800,000& *4.6% 83
206 M= Hl 4,000 4,000 0
01 =4l 4,000 4,000 0
OJ}2sE 2AE 22 Y|
1,000, 000& *24! 2,000
Oz 22lE ME #Hl 500,000 43| 2,000
401 AIEHI L 20 40,000 0 40,000
01 A& HI 40,000 0 40,000
O&A MEHGHE =& ALY
40,000,000& =14 40,000
72 NEZEHE 203,800 203,800 0
206 M= Hl 2,000 2,000 0
01 M2 4l 2,000 2,000 0
OASMEUAAS HZHl 2,000,000 14! 2,000
401 AIEHIZ 28I 201,800 201,800 0
01 A& Hl 200,000 200,000 0
OAREMEQAAY 50,000,000 =14l 50,000
OXNSZEHIMHL AL 150,000
Od31el =22 il SAt
10,000,000 * 14! 10,000
Odl32el s2 =& 2A 10,000,000 14! 10,000
O==cl 08¢z 2 SA
10,000, 000& 14 10,000
OAt&Eel Ddiolg 2 2 & &I A
10,000, 000& 14! 10,000
Oozgtel Ot2Z 2+ 2M
10,000, 000& 14! 10,000
O=Heel =22 Wil A
15,000, 000& 14! 15,000
O&Mel Ot ANEE &X 3A
12,000, 000& 14! 12,000
OZdel =22 =) & =22 &I SA
10,000, 000& 14! 10,000
OZAt1el =22 &X SA
10,000, 000& * 14! 10,000
O A22] =22t 84X SA
10,000, 000& 14! 10,000
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C(HISE) X
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SA BB O () - MM - HES 0l &+ o4 il
ogsHel =2& X A
15,000, 000& 14! 15,000
ogsee] ==& X A
10,000, 000& 14! 10,000
OEH2 sZ MHEFE SA
10,000, 000& 14! 10,000
O Atel, 2tatel M=K JtEd Y SA
8,000,000& » 14! 8,000
03 AIE 2 0HHI 1,800
OXNEZE ML A 200,000,000& *0.90% 1,800
sH)#E¥2IEY| 391,011
ol 2 gl 174,239
ol A 174,239
101 124 dl 174,239
01 2= 44,820
OAZAZRSY 44,820
Oi= 11,6342 x4H «30A| 2t 12 16,753
o7=s 10,509& *4H «30Al 2t 12& 15,133
o8z 9,434 x2H «30Al 2tx 1228 6,793
O9= 8,528% x2H «30Al 2tx 12 6,141
03 RIAHAZZ2TE = 129,419
OFEEES 129,419
OJles 2,318,130 x3H «x 124 83,453
OG &5 0tdl 500,000& 3 #23| 3,000
(OFSFeral=y 2,318, 130& *50%*3H »23| 6,955
OANZ2ZRE
14,6273 x1.5%20A| 2t *3H x 12 15,798
OFL22Y 14,6273 +1.5x8A1 2t +3H 6 3,160
OHxt=< 14,627 3 *BA| 2+ x3F 12 4,213
QI sH(BAQR) 150,000 »2H x23| 600
Og=Y 50,0003 x3H 128 1,800
O Mg 50,0003 x3Y x12& 1,800
(@FNE=3E N 50,0003 x3H 128 1,800
OnExg 60,0003 x3H 123 2,160
OZ Az 4| 130,000& 3 128 4,680
LT 216,772
JlE2zl 216,772
201 LBt HH| 169,752
01 At 22l 42,652
Oget=EH| 26,242
OaM2I+=2HI 300,000& »12& 3,600




CB SR (B) - KIRAY - BES il 2
OJIEMNEEEHI 600,000& »12& 7,200
OAE M= HAH| 200,000& 122 2,400
o2 ¥ X #sl 150,000& »12& 1,800
OFE A =&EA o dg=
25,000& 7 =128 2,100
OROIAHAIAE BA222
600,000& »12& 7,200
OZHEIANAE EH+=+2 50,0003 12 600
OEM SIEFI deg=2
55,900 24 123 1,342
o2d+g 13,290
Og At 50,000& 117 5,850
O=2| 30,000& 248 7,440
o=l 3,120
O0AZf & =4l 8,000& x13H 30 3,120
02 =224l 127,100 127,100 0
03323 2 HA 103,200
OJdzs € EAM &=
8,000,000& x12& 96,000
OdEELSEE 150,000& =12 1,800
OXNLNIXNANLESE 750,000& *43] 3,000
OJIEtE322=2 £ HAl 200,000& =122 2,400
OdI S AZHI 1,500& 2002 EH x4 & 1,200
O&EAMN S AEEHI R 500,000& x73l 3,500
oOxt&E gl 400,000& *4CH*128 19,200
202 o4dl 36,800 34,400 2,400
01 = LH o4 1l 3,200 3,200 0
O3l &A Y SAARFA O HI
50,0002 »8H 8 3,200
02 N0 33,600 31,200 2,400
O Aol 200,000& x14H «12& 33,600
203 YR =] 10,220 10,180 40
01 JIZ2Z YR 5,940 5,940 0
OJI22Z R =AHI 550, 0003 =123 *90% 5,940
02 A& H =& 680 640 40
OF Aot =& 40,000 17 680
04 EA2I YR 3,600 3,600 0
ORN2IEYEF=AHI 300,000& 122 3,600




